B S5SE BIRMLE
5.3 h—F#EX

F—J—FK : R—
{48

SRR, 7 A B ER

FEBRE R—FRHZ,

INTRIREFHEZEE

RICENTEEEOITHS,

CHIIZ



5 BLREULE

5.3 IR—F#EX

BlRE w [ZxL S

TEE: BURE w 2B &Y w2 = 10w,

[ Gw)| DEERTS A

| $5F

| /G(jw) OEILERT A

i

1 TH—FK (dec)

st A R 201og,, |G(jw)) TN )LIE (dB)
fRERE () E
Xt {iE 0.1 1 V2 % 10 100

TN )LE

—20dB| 0dB | 3dB 6dB | 20dB | 40 dB




BaR Glw) = jiw

TA(TIUNILE)

1
20log |G(jw)| = 20log | —
Jw
1
= 20log — = —201log |w|
f o

w = 0.1

—201log0.1 = —20 x (—1) =20 dB
w =1

—20logl = -20x0=0dB

w = 10

L —20log10 =-20x1=-20dB

(ORiE
1 1

LGGjw)=L—=1>=/1—1]
jw o j

—0—90 = —90°

74> [dB]

fi+8 []

-180

-270

40

20f -~

-20¢

-40

90

(a) T AR

10

-90

10~

10" 100 10
W

(b) i tHHRE

10



. 1
QEREDR GUw) =
BERHR Glw) )’
TA(TIORNILE)
201 20 log
08 5 = 0g —
(jw)?| w?
= 20logw ™ = —401log |w|
I FE |
LG(jw) = L— = L1 — Lj?

J
=0 — 180 = —180°

74> [dB]

it []

-180

-270

40 l ! ' ‘

20! —40 dB/dec

(a) TA$E K

1007 100 100 100 10°

W
(b) LIAE#RE
5.6 BRRONR—FIRE



1 20
R Gliw) = _

I R&% Gljw) 1+ jwT N L
YA (FLRILE) g g
201og |G (g =201 A :

og |G (jw) AT Q ;
iz 4B ® —20 dB/dec
G = /1 = /(1 ) Im 40 . ! |

) /1 ij:fy)w ),,T _________ 10" 100 10" 100 107
- ” - wT
ST <1 Gljw) ~ 1 ALt geT >90 (a) 5 A2 E
. 1 | ' |

(T < 1 20log |G| ~20log1 =0 dB

/G =0°
1
T =1 20log |G| =20log — = —3 dB
/G = —45°

wT > 1 20log |G| ~ —20log |wT| dB
\ /G~ —90°

-2 10-1 0 1 2

wl’
(b) SLFE#RE
5.7 1 RERDHR—F#R X5



HraL R4

(5F4>) 0dB & —20 dB/dec
D2 AKDEL

(s #8) 0.2

W

T

IN
o
-

O

&
Y
~| ot

g []
/:

20

¥ R EREL
' 1 |
g ’ N\ YT T
A :
¥ -20) |
N |
40 L
10° 100 100 10" 10
oT
00 (a) TAHRE

-90

-180
10~

0" 100 100 107

wl’
(b) IFE#RE

5.7 1 R2DOAR—KF#R X,



THZEILTEHEEZRT) 200 7-100T=1—

YEEN A R 4TI B _ T=10 / T=01
2 /
Q
= -20r
-40 =

1 2

10710 10° 100 10

W
(a) A
T=100 7T =

90

it []

80—
0% 100 100 100 10
W
(b) FEHRE

5.8 MRDBEHICHT S | RRDKR—FER



A KBELTE(BEERAT)
WEARICFETBE(T1oDH) »
K
1+ jwT

0

G(jw) (T =1)

-20

74> [dB]

-40

W
(a) TA R

90

K =20.1,1,10,100
O‘X
-90¢

-180 ' - .
10> 10" 10° 100 10°
W

(b) fLFR#RE

it []




2

2 RF%R G(s) = “n (K = 1)

§? + 2wy s + w2
[ 2 ZE B 2K

2
CUw) = o TR G T = T
" " (j—) NI, Yquully Sy |
G P4+ +1 1= Q2+ 5200 (Q:@
A 1
IG(jw)| = N SN CTE
YRS

/G(jw) = —2 (1 — Q% + 5j2¢Q)



2

> . wn
2RI CU) = o G T
1
T 11— 02+ 5200

TA(TINIVE)
1

20log |G(jw)| = 201og

i #H

LG(jw) = =2 (1 = Q% + j2¢0)
N<1l Glw)~ "
Q>1 Gljw)~

V(1= Q%)+ (2¢0)?

—0)2 5

1-02

[ Q<1 20log|G|=20logl ~0dB
/G~ (Q°

Q=1 20log|G| = 20log

/G = -90°
(1>1 20log |G| ~ —40log|?| dB
L /G~ —180°

1
—| dB
2C‘

20

¢ =0.1
0 _ !
% =20 |
*
N 60!
-80 - ' -
107 100 10" 100 10°
W/ W,
(a) AR
90 - ‘ -
72¢Q)
m -90 l 1
+&
i>_| &
-180! .

2270 - '
107 100 10° 10
W /W,

(b) LIFEHRE

1 2

10



Q: Gzl 4G:(_OO):OO
1
(1 = G!__§E /G = =90
D~ |G]l=0 /G ~ —180°
4 Im
#£m —180° HFER (1,0) Re

5.5 2 REDRYIK)LENER

74> [dB]

it []

20

20!
40!
-60!

-80

90

-90;

-180;

-270

(=01

¢=0.9

2 1 1 2

107 10 10° 100 10

W/ W,

(a) T A HRE

2 . N 2

107 10 10° 100 10

W /W,

(b) LIFEHRE

11



G ls) (B RTL)DIR—F#RE

S
20l0g | | = ~2010g|G(jw)
fitg
4 = 400

WO RAT LTI, TAVEGBEDFR

57 &R

12



*x 5.1 EREZRDR—FEE

G(s) T4 ER {2 7B B R
dBt 20log|K| ‘
K 0 o 0 >
dB 1 o
1 90
S 0 ‘/: W
~ 20dB /dec 0° -
dB | —20dB/d .
1 i \1‘ : w/ ec 0
S \ _900)
900A
4B + 20dB/dec
Ts+1 ; P
. > OO | >
1/T 0.2/T 5/T
1 1B 1 T OOA 0.2|/T 5/T;
Ts+ 1 0 ¢
- OdB/dec\ —90°
A A wn
w% dB AI o 0° | >
82 —I_ 2Cwn8 _|_ w’r% 0 C"i”r\ 1800 1

13



B S5SE BIRMLE
5.3 h—F#EX

F—J—FK : R—
{48

SRR, 7 A B ER

FEBRE R—FRHZ,

INTRIREFHEZEE

RICENTEEEOITHS,

CHIIZ



